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In this Part 50 questions are given. Each question has four alternative answers. Choose the
correct answer from them and darken the appropriate circle completely in the OMR sheet with
the Blue/Black ball point pen.
gecie gga gy 1(4e) /aq |

Each question carries 1 (one) mark.

ang age aaa ¢ |

Answer all quedions.

1. fgg 696 ameqdd (0. 0) efe 1.  Which of the following equations

B e e dob - will be satisfied by the ordered pair

P A (0, 0)?

(A) 3r+2y=| (A) Ix+2y=1

(B) Ax+1)+3y-1)=0 (B) 2x+1)+3(y-1)=0

(Cy 2qx+3)-3y+2)=0 (C) 2Azx+3)-Hy+2)=0

oy gy (D) 2vi3y=1

) (5 : 2 If i [S TJ h hat i

2. oG @] A = 5 ]],5959 . matrix A =| | |, then what s

Geafinig (Al @ AR 6960 ? the value of the determinant |A| ?

(A&) -9 ®) 7 3 -

©) -7 D) 9 ) =7 (D) 9
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3. arx+by+5=08x+y+1=0 3.  If the equations ax + by + 5 = 0 and
. 2x + y + | = 0 are inconsistent, then
. arnaerél 24ere 6Q6Mm, s 'B : : -
- Q“a" ¢ ¢ what is the value of a : b ?
SmER BN (A) 1:4 B) 2:1
(A) 1:4 By 2:1 ) 1:2 (D) 4:1
) 1:2 (D) 4:1
4. -5 +6=02MRdR AFQQ 4.  If the roots of the equation 17 — 5x +
;3 » 6 = 0 are o and B, then what is the
s 1 & I ]
{KGBGQGQ.“- BG] AR 6860 ? valueoi‘a+‘ﬁ?
6 _3 6 5
4 5 o A (A) 3 ®) -
6 5 6 3
EF =S ®© & © -3 D) &
5. 66169 QU aMeads ARQAR For a quadratic equation, the sum of
E]F‘Iﬁ 4 3 Qage =3 | fag the roots is 4 and their product is—'f".
. ol ~ 2
AMIQEAIRE ORI E@Q“@ Q| Which of the following equations is
* the said equation ?
qAMeQd ? ’
(A) 2x-8x+5=0
(A) 222-8x+5=0 5t e
(B) 2:2+8x-5=0 KR e =g
(C‘) 232—-83'—5=0 [C) 2,\2—8.‘.'"5=0
(D) 22 +8x+5=0 (D) 22+8x+5=0
6. 6BIEN @Ml @ NP QUS-899 The sum of a number and its
= _ reciprocal is 3. If the number is x,
'Eﬂq 31 e x b B then what is the required quadratic
QaIe YMeqds &'a ? equation ?
2 s
(A) #-3x+2=0 (A) ¥=-3x+2=0
7
(B) »+3x+1=0 (B) »*+3x+1=0
(@ P®-3x+1=0 (C) a2-3x+1=0
)
(D) X¥+3x+2=0 (D) 2+3x+2=0
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10.

(B)
(&)
(D)

6RIEN @Bl B IR URIPR

edvre 99§ 5 | TME F44q
eGeIaR €06 ameads e'd
69 ?

1 |

(A} 42 -8x+1=0
(B) 4 +8x+1=0
(C) »2+8x+1=0
(D) P*-8x+1=0

66IEN AP. @, t, = 2n — | BQER,

Qg A.P.Q QRIQE AQQ 6REC ?

(A) 2 (B) -3
) 3 (D) -2

seI asige aadeq 2 a = 3,
d=48n=109Y, 6660 S, AR
6R6G ?

(Ay 210 (B) 110

(C) 105 (D) 420

GoRflc 2pen mug  6RAF
anige aeic 96g ?

1234

PPy
1.1,23,3.5:4.7, ...
=3, =2y 3,7, 12, o
LELLS

10.

The sum of a number and its positive
square root is % What will be the
equation to find the number ?

(A) 47 -8x+1=0

(B) 4x2+8x+1=0

(C) »¥+8x+1=0

(D) »2-8x+1=0

In an A.P., - 2n - 1. What is the
common difference of the A.P. ?

(A) 2 (B) -3
) 3 (D) -2

Inan AP.ifa=3,d=4and n= 10,

then what is the value of §_ ?

(A) 210 (B) 110
(C) 105 (D) 420

Which one of the following -
sequences is mnot an Arithmetic
progression ?

L2 3
A 3333
B LT E5AT ...
) 3203718 .
) L2 N9

4
-
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1L N8 g2 opde €9 ekl | 11. A coin is tossed two times. What is
a6enea 6018w H  aded the probability of getting atleast one
g 9
QRIS 6R6E ? !
2 3 (A) 2 B) 2
2 3 3 ®) 3
(A 3 (B 3 4 4
4 |
4 1 - =
'3 D) 3 © 3 D) %

12. 6618 Q8 60I6Q 26Q CFIER | 12. A dice is rolled once, what is the
R 7 Q @ i QMG probability of getting less than 7 as
6@6C ? outcome ?

1
) 3 (B) 1 (A) v
5 3
(€) 0 (D) 6 (C) 0 (D) &

13. ‘M’ GRNAIe @aq 20 § qede 13. If each of the 20 scores with mean M
MR4E TETURE 2 PRIMETEM 599 is increased by 2, then what will be
ﬁQUIﬂE;E‘Q S;IULI‘PTIG‘ 6060 SQE‘ N the mean of the new scores ?

Lt ' (A) M-2
(A) -
B) M+2 (B) M+2
(C) M ) (C) 2M
(D) M (D) M

14. 988,56, 7, x 34U 14. If the mean of the scores 8, 5, 6, 7, x
FIMNAIR 6.5 Q‘d, x Q Al 6860 and 4 is 6.5, then what is the value of
Q@ ? x?

(A) 10 B) 11 A 49 & 1
& 13 (D) 9 () 12 (D) 9
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1S. 9@ QUM FRMAIG M, ARMNAI 15.  What is the empirical relation among
M, G aege M. auiee g the mean M, median M; and mode
URaee AeT @'97 M, of a set of data ?
(A} M,=3M,-2M (A) M,=3M,-2M
(B) M, =2M-3M, (B) M, =2M-3M,
(C) M,=2M,-3M (C) M, =2M,-3M
(D) M, =3M-2M, (D) M,=3M-2M,
16. €af 20 § G4 @EHK AN 16. What is the mean of the first 20
6@6G ? g counting numbers ?
' 21
21 (A) 105 (B) 3
(A) 105 (B) ”
(C) 11 (D) 10
(€ 11 (D) 10
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5.6.7.7.8,8,9,9,9,09, 10, 11, 12,
126 988R 6266 ?

(Ay 9 (B) 10
€y 11 (D) 8

gaa 10 § ode deuR Auyel,
gan 9 § 668 aeua R0

6REC 6QEM ?
(A) 05 (By |
(C) 15 (D) 0

19. AABC @ A, B B8 C §oaReq

20.

geie [aesa (1, 2), 2, 4 G

(3, 5) | Q] §QP AD ¥ FRuA
6Q6R, D @9 QIRIe 6Q6C ?

(A) (25.4.5)
(B) (1.5,3)
(C) (2,3.5)
(D) (5.9

(4, 2) B (K, -6) §2QQQ TEQILR
QISR MMEL (1,-2) 6Q6R, KQ
AR 666 ?

17.

19.

20.

What is the mode of 5,6, 7,7, 8§, §, 9,
9,9.9,10,11,12, 127

(A) 9 (B) 10
(C) 11 (D) 8

By how much is the median of the
first 10 counting numbers greater
than the median of the first 9

counting numbers ?
(A) 0.5 B 1
(€) 15 (D) 0

The co-ordinates of the points A, B
& C of the AABC are (1, 2), (2, 4)

and (3, 5) respectively. If AD is a
median of the triangle, then what are
the coordinates of the point D ?

(A) (2.5,4.5)
(B) (1.5.3)
(C) (2,3.5)
(D) (5.9

If the mid-point of the line segment
joining the points (4, 2) and (K, —6)
1s (1, -2), then what is the value of K ?
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FAIRL A AWM s

(A) =3
(B) 4
(C) -3
(U -2

K @ A9 6860 6Q6R, (K, -2),
(2, 5) @ (2, 10) G204 9@ QAR
§R6I6R P67

(A) 2 (B) 3
) 4 (D) 1

f9g A4 x A AR 6860 6QER,
(4, 0) 3 (0, x) BLQQ AMWEQ QAC!
590@ 6Q@ ?

(Ay 3 (B) 4

() 5 (D) 2

22.

(A) -3
(B) -4
(C) -5
(D) 2

What is the value of K for which the
three points (K., -2), (2, 5), (2, 10)
become collinear ?

(A) 2 (B) 3
€ 4 (D) 1

From the following, for what value
of x, the distance between the points
(4, 0) and (0, x) will be 5 units ?

(A) 3 (B) 4
(€C) 5 (D) 2
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23, 9@ @@QE} ﬁﬁ@g 24 (0, 0), (0, 3) 23. How many square units is the area of
G (-4, 0) 6¢6M, 69 @@E}‘G} 680 TR the triangle whose vertices are (0, 0),
6R66 @6 9a] ? (0, 3) and (-4, 0) ?

(A) 7 (By 6 (A) 7 (B) 6
(C) 5 (D) 8 (€) 5 (D) 8
24. t @ EG:"G]\, ﬂlf—?ﬁiﬁf (1, 1), 9Fead 24. For which value of t, (1, 1) will be a
+3y-9=0Q @ QARUIR 690 ? solution of the equation tx + 3y -9=07
A) 6
(A) 6 (A)
) 12 (C) 12
| 3 (D) 3
25. ko 9P 6966 66, x +ky=20 25. For what value of k, the pair of

4x + 12y = 8 Q@ IMERAE Q49
ATeH AARIR Qe ?

(A) 4
(B) 2
() 1

(Dy 3

simultaneous equations x + ky = 2
and 4x + 12y = 8 will have infinite
number of solutions ?

(A) 4

(B)

I

() 1

(D) 3
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26. OQ 9669, AABCQ mZABC =90°

\6e*BD LA C,606@ AD x DC 8¢9
(Ra6 a9 Qe ?

A

(A) ADx AC
(B) BC?
(0 BD?
(D) (MxCA

27. AABC 69 ZACB 9 99G8IgR AB Q@
M G26Q 620 @68 | AB=106d.71,
BC= 12 62.8. @ AC = 8 69.4.
6Q6R. AM 6@6C 69.71. 6Q@ 7

|
(A) 3 ®) 4

o £

(C) 6 6

28. <9 98N QAGAAR TEEYR AQ QA
0GQan 6eQ0KR QYR @del
69Qg 6RIQ ARG 6Q6E ?

(B) 60°

(D) 36°

(A) 45°
) 72

26.

27.

—_—

In the gien figure of AABC,

mZAB C= 90° and BD L AC. Then
which « the following i s equal to
ADx DC?”

A

B c
(A) ADxAC
(B) BC?
(C) BD?
(D) CDxCA

Bisector of ZACB of AABC

intersect sAB at M. If AB = 10 cm,
BC = 12 cm and AC = 8 cm, then
what is AMincm ?

|
(A) &

i (B) 4

©) 6 © &

What is the measure of the angle
ubtended by one sid e of a regular
decagon at the centre of its circum-

circle ?
(A) 45° (B) 60°
(C) 72¢ (D) 36°
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S0IEY gaQ OREF TAAIgR &Ya
oAsige  ARgR  6RedR
ERGI0IER AedD !

(A) B& x968

(B) 6EIE Q4E8 MMEQER

(C) 580 7 @8 998§

(D) |an eYsda6a

10 6.8, evad @8y 9@ gaa
692019 Qg Qa8 16 69.4. wid
16 Gy oF a@c Qne 60dy
6G60 69.7. 6087

(A) 12 By 9

(C) 6 (D) 18

'
ABC QQ%l 66 0" I mBYC = 140°

696R, mZBAC 6966 69 ?

(A) 65° (B) 60°
(C) 50° (D) 70°

29,

3l

Where does the point of intersection
of the perpendicular bisectors of two
non-parallel chords of a circle lie 7
{A) On the circle

(B) At the mid-point of a diameter
of a circle

(C)  May not intersect

(D) In the exterior of the circle

What is the length in cm, of the
perpendicular drawn from the centre
of a circle of radius 10 ¢m to a chord
of it of length 16 cm 7

(A) 12 (B) 9

() 6 (D) 18

*()" is the centre of the circle ABC. If

5
mBYC = 140°, then what is mZBAC ?

X
A B
z Y
=
(A) 65° (B) 60°
(C) 50° (Dy 70°
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32. 6aIF QAR 9 SIeR 60y, evad
@6 ee | 9@ ore wdgee
QIOR AGAEC 6QINH ETIFIA 6960 ?

7
90°

B) —
n°
© %

80
180°

D) —

33. BZC 988 662 0 ¥@" A § Qaaf
8¢ qde Qqa Qdée B G C |

- y £
€0 mLBAC = 64° 6Q6R, m BZC

696 699 ?

- -

c
(A) 1167 (By
(C) 120° (D)

118°
114°

2qqae @geqd a9l 0ad qa
g6 adilie sas0if Qe Qde
2@e fqQRaIGe ?

(A) 2 (By 3
(C) 4 (D) |

32.

The length of an arc of a circle is
equal to the radius. What is the
measure of the inscribed angle of its
supplementary arc 7
(A) 1°

90°

4

(B)

KD
180

180°
) e

(€)

In the given figure, O is the centre of
the circle BZC. The point of contact
of two tangents drawn from A are B

and C. If mZBAC = 64°, then what

5
is mBZC?
B
A
C
(A) 116° ) ki
(C) 120° (D) 114°

In the maximum, how many common
tangents can be drawn to two
externally touching circles ?

(A) 2 (B) 3
(C) 4 (D) 1.
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35. ¢ wee quad 9dg <@ qaeq
ERQ0IQ ‘p’ 99 QARG (p > r) 6]
gel ¥@ 909 ] 9@ 9% uee
qérega 60dy 6960 WR@ 6QQ 7

(A) pxr
(B) \p?+r
© Np*-r
(D) p+r

36. af soIfN aARAe §o8 gs6ye
@860 9@ Q@ AR A6Q, 606@
Ang 666 99 ARe?

(A) 2QeTE
(B) @656
(C) gIadgn
(D) A9

37. ORE 2QiQ¢h Qaa eua d, 6
d, 62.8. d, > d,), GANRETA
FREQE AUNER QRICI 6REE 69.4. ?

d, +d,
W) T

(B d,-d,

dl _dl
© -3

(D) d,+d,

35.

3.

How many units is the length of the
tangent-segment drawn to a circle of
radius r* units from a point lying at a
distance of ‘p” (p > r) units from the
centre of the circle ?

(A) pxr

B) Vp+r
© p?-+#

(D) p+r

If each of the vcﬂice;-s of a
parallelogram lies on a circle, then
which of the following figures is
obtained 7

(A) Rectangle

(B) Square

(C) Trapezium

(D) Rhombus

Two internally tangent circles have
diameters d, and d, em (d;, > d,).
What is the distance between their -
cenires incm 7

d, +d
(A) e E=u

(B)

€ —
(D) d,+d,
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38. 88 fieq od e6g og 7 6a.4. 38. How many circles of radius 7 cm can
evaid @ﬁq §06018 Q8 el be made out of a piece of wire of 88
= metres long ?
fLaI ? oy .
EH H}m }B}, : 3&, (C) 40 (D) 200
39. 668 QEaeRia 68CTW 1848 39. The area of a sector is 1848 square
@ | <ol ¢ o 6 cm. If the degree measure of its
e R corresponding arc is 120°, what is its
a8aI@ 120° 6Q6R, QYA 6960 salushhom @
60.8.7 (A) 21 (B) 42
(A) 21 (By 42 (C) 84 (D) 11
(C) 84 (D) 11
40. 18 60.4. euaid Gdq 1@ adqa 40.  What will be diameter, in cm, of the

base of the greatest cone formed out

defa @5 6ge We Qyan of a semicircular sheet of paper of

6RINER 0840 @8R, 6RIRFQ radius 18 cm ?
ARG BNIT 6960 62.4. 69@ ? - 9
¢ (A) 18 (B) =
0 R
(A) 18 (B) 7 18
18 ©)- = (D) 9
& ey Dy 9
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41.

42.

43.

45.

st dRgaa auea vag @
Q90! Q2REA 60IEN RIFA VIR
Al 8 QeCl 99 Q9P 6QEA.
§Q7IPRA AYERN 2RTC 6960 ?

(A 3:1 (B) 2:3
) 1:2 (D) 2:1

606 GRge ugfa 6HIRL4R
Goa asq euad 1 #. 40 607 6
Q90! 1 fi. 606R, 186 2B6aMER
6R60 ORFCR QId A ?

(A) 61.6 (B) 1.66
(C) 16.6 (D) 6.16

cos 1% cos 2% cos 32, cos 10M)° Q)
R4 @60 ?

(A) 2 (B) |

(C) 0 (D) 3

ABC QR6@Ig1 CARER mLB = 00° |

% |
@ sin (A - €) =35QN, 6068 ZA @
QEnIE 660 7

(A) 45° (B) 60°
(C) 75° (D) 30°

P > 90° 98" sin P = cos Q 6Q6R,
fn agaee auig saEE 08 ?

(A) P+Q=%°(B) Q-P>%
(C) P-Q>%°(D) P-Q=90F

41

42.

43.

44.

45.

The radius of the base of a cylinder
and its height are respectively equal
to the radius of the base of a cone
and its height. What is the ratio of

their volumes ?

(A) 3:1 (B) 2:3

() 1:2 (L) 2:1

An open tank is in the shape of a
cylinder of radius 1 m 40 ¢cm and
height 1 m. What 1s the maximum
quantity of water, in cubic metre, it
can hold ?

(A) 61.6 (B) 1.66
(C) 166 (D) 6.16

What is the value of cos 17 - cos 2° -
cos 3., cos 100° 7

(A) 2 (B) 1

(<) 0 (D) 3

A night angled triangle ABC is night
angled at B, If sin (A - C) = 1, then
what is mZA ?

(A) 45° (B} o0°

(C) 75° (D) 30°

If P >90° and sin P = cos Q, then
which of the following statements is
correct 7

(A) P+Q=9%°(B) Q-F>%°
(C) P-Q=9%°(D) P-Q=9%"
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_ x] . 5
46, sin A = 73 6U6R. cot A = 66T 46. If sin A =73, what is the value of
6GE 7 cot A 2
12 S 12 5
o 13 12 13
©) % (D) 73 €) % (D) 12
47. 68leg dee 9@ ARIReIR da 47. If the angle of elevation of the top of

a building from a place is 15°, then

49.

celde Qnfe e8aId 15° 696R,
@] oFReR &dq sef gea
(RIER TGREH O8N 6860 7
60°

30F

{(A) 45
() 15°

(B)
(D)

AABC ~ ADEF | €0 AB = 12 694,
AC=9695. BDE=6698. Q.
6060 DF 6866 62.7. 7

(A) 45 (B) 55

(C) 6.5 (D) 3.5

0& 3969, DE| BC BAD:DB=2:3,
AADE @ 6860 @ DBCE
€18Fgra 68CTRA 2000 660 ?

48.

49.

what is the angle of depression of
that place from the top of the said

building ?
(A) 45°
<)

ﬁ{ }I::l
e

(B)
(D)

AABC ~ ADEF, if AB = 12 ¢m,
AC =9 cm and DE = 6 cm, then
what is DF incm ?

(A) 45 (B} 53

(C) 6.5 (D) 3.5

In the given figure, DE || BC and
AD : DB =2 : 3. What is the ratio of

the area of AADE and area of the
trapezium DBCE ?
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B
2 4 4 4
™ il > ! W 3. &3
£ = 2
© 3 (®) 35 © 3 (D) 35
S0. APQRER, P <&@ QR6ed | P 50. In APQR, Z£P is a right angle. If a

i o= 2 perpendicular 18 drawn from the
L% QR @!?@E} a@c AgQeAl 0|

Baef 6960 606 Al o9 vertex P to the side ﬁﬁ then how
- = [y ] -]

many different pairs of similar

gamea Qolge ga? : triangles will be available ?
(A) GF sael (A) Three pairs
(B) @18 621 (B) Four pairs
(C) 92 sa19 (C) Five pairs
(D) ©Om cQIQ (D) Two pairs
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